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Instructions :

GehaTTe FodT TRAHTIARINT Seho-d g |
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STET Tehel 7 &I, &l 9l WYl o ST H&hd H & [ |

Answer all questions in Sanskrit unless instructions are given otherwise.
A IS T @UeT: af |

T YT H R GUS € |

There are four sections in this question paper.
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wue: 6

Section A

Qe g

Section B :

wue: 17

Section C

e g

Section D :

3TqfaaeT - aaaﬁwaq-q\(am%ﬁm - 33|_0|E:ﬁ’?47|') 15 ==t

Unseen Reading Comprehension

T ARG (Fhd H TaTH @) 15 =
Writing Skills in Sanskrit

ISR - G SEpaaTeEe q=d: 9 40 + 10 = 50 F=H:
(TTSTT- ST el Weahd Alfecd IRT)

Reading Comprehension & Introduction to

History of Sanskrit Literature

DRISAGHRT: (BT TeH 3TeTShN) 20 AT
Metres and Figures of Speech

Qug: & (Section A) 15 =T
HUTSATI — FaSETT
HUFSATI — FHaaea

Unseen Reading Comprehension

1. TRy ST=osgd Uicel TeH Mo S&hod SRd :

FAfeiad T 3T =] 1 Ugahe ST 7T U9 o 37K G%hd | fafau :

Read the following two passages and answer the given questions in Sanskrit :

(%)
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Wzaﬂ@?:

WO S HE 9 AW a1 g e | ST S99 g 7 e | e
TAGR: AT Fatd @1 9 d5d qatd a5 FEEn: Jo 9 qady sieeaad | 31d: SO SE
1 R A, Ta o F8T ST a1 qadl G et acars Hisd: ST ST
Tl Frads ST Wil are T 6 3(d | e MR 96 9, a1 #hl S e A
A el |
3T
(37)  THIHTRA | %x2=1

T 915 H ST T |

Answer in one word.

(i) O F: ¥awd ?

(i) TG e SHeer watd 2
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C))

)

£ |
quT S § IR ST |
Answer in a complete sentence.

o e i femforeT

T IR |
PRIEEN ISR ol

Answer as directed.
() ST T HYUg R ?
(i) S 3T & YA ?

(iii) IFT 37 faerug 6 2

(v) H: o7 foRmui fohe ?

@ T a=e
Tt S 7 HIFRT M ¥ WA @Hadsdun a1 gie s 3HEE: 99
a1 FA | A Hiva METHHY Fgsad e ¥ SRS 37w Terdq | e
forerer: Tafrcarerd fafeheger:, FRTe otedel:, ST 3redet., fomfvrert ar wfed
I, | A TIRY, FHRMR TeafsmoT fHeear ar aiqut sHiiq | e Siigsor; Tt
AT HH: TIFIA | 3 TS ARl THRET | et Hoe 8T HAiag
Y A e e HH UTeREe A9 At | AT EU0 RHYeRE

ISt o HIFE: Had it WA |

q9AT:
(3

C))

ISR |

T & H IW AT |

Answer in one word.

(i) S HE HHT: T FA ?
(i) T HE U ?
USRI |

quT S § IR ST |

Answer in a complete sentence.

SR UTYT et o R 2

2x1=2

“x4=2

1x2=2

2x1=2

[P.T.O.



(F) TR 3TRA | 1x4=4
fremgar sW it |
Answer as directed.
()  wrAT e R e e 2
(i) ‘TR T % YAE: 3T U ?
(iii) Fr.¥@mE o7 foemug fRe 2
(iv) T SRS eE” 3 W I WO e WgeR 2

@) T T[T Fl UG IH Wi forad | 2
TH 3T & [IT SUFRT Sveh Wepa | feaf@u |

Write a suitable title for this passage in Sanskrit.

Que: & (Section B) 15 A
HEHAT TEATHHAETH
H&HA W TS AGT

Writing SKkills in Sanskrit

2. HoSUI: Sraqugha il STl s Qe 37 forad 1x10=10
oS ¥ 3fed Aok oleht FHTeIad ST hl Joieht Ty

Complete and rewrite the following story, with the help of the words given in the box
below :
5T @

TG T SRR () S | S T (j;) TR € S e fore |
T FGOH T WA () T WA | S PROM WIS fremid 1 sweRfn

AT () | A T () T T | sfeefedisieT @ | T AR, T
Ik Uhyd UM Jarsit FMealid | Ther 3% oF ¥ Wiaq:, T4 o @sfa o o
I () | S g A ey e e | g e

(vii)y W | T TR A T ()7 TESEY | W awEeH T (7 W
SRR, ST Worsh]; U5 1 e |

HaS[uT

(=N

1. =Rt 2. FeRY 3. 3TaR: 4. wamq 5. AW 6. F_f 7. fawty
8. ITWA: 9. T 10, 3T |
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3. oSO URIH T HEFEE. Cesaiaey 3 fovan e use SR S
foraa | 1x5=5

TS § ST 1 T LT & “Tesdiiar g © §%pd | e g faey |

Write five sentences in Sanskrit on Prime Ministers “Clean Drive” with the help of
the words given in the box below.

Has[uT

(=N

1. FETCHIT4: STFRISad, 2. STENId 3. 79 74, 4. HAHIAH, 5. WesadT,
6. 9, 7. T, 8. WE, 9. TSI, 10. 3Fek Sfie, 11. Te 12, 39,
13. Y, 14, T, 15, @eH, 16, T, 17. HAY, 18. 0, 19. fafeq |

@Gug : T (Section C) 40 + 10 = 50 ISH:
TSI — HaETEH FpaaT e URad: 9
UfSAieT — SaEied Ud W&h Aifee uRed
Reading Comprehension & Introduction to History of Sanskrit Literature
4.  eifcIER 9, TR ATCHR = Uiee MRTuR HEhe SO |
TFATCTIRERT T, TTRIRT T ATSHiRT Sl 9gaht 9T T TRAT o ST Hehd | &I

Read the following poetry, prose and drama passages and answer the given questions
in Sanskrit :

() T&EH

RIS FHoleRTe Jraed gL 5,

ARy ATecetal Agy: |
AT ATasel foguT Fd: Taei He M,
TR W o HREA Tege: Hhigen: |17
LN
() THUARRA | %x2=1
T 9153 H ST ST |
Answer in one word.
(i) SR FA I ?
(i) I WI: H: ?

49/1 5 [P.T.O.
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C))

Q)

YUTETRARRA | 2x1=2
quT S § 3R ST |

Answer in a complete sentence.

TR g T = e 2

TSI | %x4=2
YT ST ST |

Answer as directed.

() o 3T oo fohe 2

(i) IRRY T F: W ?

(iil) TEH’ 3 WIS He Pl T ?

(iv) T g FIgueH 3 ugFH ?

(@) T
T R A AR IRANT | TS ARy - U (o7 T5E] Wad dggand |
fgdioRe WSSy STgaqeaq ScRld | galaReld IaRegTeae Hafd | aqarg
TSI EATRUN SE= | TRaT I TeleaT T3 g% Jaestd 17

e

()

C))

Q)

THISARRA | 12=1
T U5 H I ST |

Answer in one word.
() VR T T e ?

(ii) SHaqed TR ?

YUTETRARRA | 2x1=2
quT S § TR ST |
Answer in a complete sentence.

(376H) Tt Toh ST 2
TR | %x4=2
FHRTER 3T SN |

Answer as directed.

() TR T FYUs o 2

(i) TR 3T F: YA 3T WIS ?

(iii) T HETEE 3T “TAUN S(0g v FgeR 2
(iv) fou o7 foh foetmuee ot e ?

6



o) I LA L)

<

‘I ST | S o AT 2 TR a7 A ?

oAd: qtE |

HIgeT T e @ ?

o e GPEAHEI areHia: |

HIFT AT ST | AT FUT |

o TdTERd ST | (TTa9d Fwi=T:)

o FAR | PAR | WAISYT ThA RISTY WAERINT  SHUSSRSE,

TISTALATS T W Hedefie: |7
9T

(37)  THIARRA | %x2=1
T 915 T 3T ST |
Answer in one word.
(i) aTeHRR: 3T foh faemmony 2
(i) STEINT: & YATaR: Heaetishd: ?

@) YUEER I | 2x1=2
U7 A1 § 3T T |
Answer in a complete sentence.
AT TS Tl SIS ?

(F) A A | %x4=2
FH9IER 3R SN |

Answer as directed.

(i) oA o FU o 2

(i) 37T 3T HoHTHUS v U ?
(iil) TEHE T F: TIE: 3T T ?
(iv) “oRIETERd:” 3 faetmus fomy 2

49/1 7 [P.T.O.
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ST HeArIean forad |

RT3 | e o T

Match the words with their meanings and rewrite
e e

(30 s (i) e

(@) e (i) e

@)  Gelid (i) w=H

@) o (iv) T |

TG ATRI 3T TRAFTHIT e
TR T % TR UX T AT HifT

the same :

Frame questions on the basis of underlined words.

() “oFeay: ufemT I’
(i) TREEAS=HR
(iii) 37T A9 T AT

(iv) ‘feee D™ TEHa 1’

ST Tt R -afd Aosaug@erdal el [T
At g vremet § Hosom § U M0 91T o Wl § Rer i &t 9fd o fafan

Fill in the blanks in the following two explanations with the help of the words given

in the box and rewrite the same :

(3T)  ““3TGAT A9 o AT ST THHTAT,”

Tt WA=t & o =TeHe-T S |17
Wrae:
qON EwSd g () e Had

Giii) AL TR el & (5
(vi) ?ﬂ‘olﬁraﬁ: Wﬁﬁaﬁ |

8

| F S

SIHR: T

(i)

v)

1x4=4

1
EXI2=6

ﬂa’%fﬁ‘ﬂ?ﬁ

HIger 3y
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C))

“TreTrard Sieehal 7 Rl 9y |
VST Feshia el 54 fagmderd (17
‘HTéIT?j:

AT IS Ha: () Wﬁﬂ (i) a'sﬂ":[2 eﬁﬁ'{ (iii) o W aq
BAT T Gy TG T ST T ke Ty EET A A1 ke

vi)y !
EES U

(=N

1. 93T, 2. WTEUT, 3. XM, 4. IFHRH, 5. T, 6. GEH, 7. THEEH,
8. 3T, 9. TATGRT:, 10. 7B, 11. YA, 12. T |

memw

o

et ST SoTrehl o 3Fal | e T i gid it

Fill in the blanks in the following prose-order renderings of the two verses :

(3N “qafq qEnteay Yo, Ty cdTRASTT |

C))

THREART TEREae ehegaed 9ehH FHei |17

T

TS ST G SR WRH N | T A M T

FRA (i) TG T |
“RT AT T TTET SRS STol 9 R |
TSEotel PHEH SAl I e 7 feaw g 117

T

Ty T mmE T ) T

ol

P

[P.T.O.



9. FATIH IRA |

TR ST ST |

Answer as directed.

(30 FY fopams = ferger |
el e AT 9T |
Select the subject and the verb.
(i) ATl = e ey
(i)  “3F SvEl e erg dfeTHe I

@) feremeore fog | 1x2=2
forRIeoT o8 T |

Select the adjective.

x4

D =t
1
[\S)

() “HERST | qaentue | &
(i)  “Hw 7T, Wt uiar smf 1

@) FHEfTEdiEREa {ETTgehd- TS HraT FeRT 2 1x2=2
Tefefaa gt disar § Yw@ifhd Ta-m ug foheh foTw wget g & 2
In the following two lines for whom are the underlined pronouns used ?
() TS TN g 98 wem
(i) ‘3% HIgHEH AT |

@) STEfEaUREY Herr T ‘Taferqy ofd usar. gHmew TS fee fore 1x2=2
e & dfgsal § ®e qu o % [ o Ugl % T ug g
foafam

Select and write the synonyms of the words ‘Harsh’ and ‘to join’ from the two
lines given below :

() AT e eea HaTE ST |
(ii)  FRATTERT UTGST ey |

@) & & w2
I TohTehl e 7T & 2

Who is saying this to whom ?
() T @ sEsitaE HRag
(i) T T | ey e faw 1

49/1 10

x4

[SRE
1l
(8



10.

11.

49/1

()

C)

(%)

C))

Q)

STEITAREdeREeh T U e forad - 1x5=5
frfeiad si@eh! & That Ueh hieg T A fATEn

Write the names of any one work of each of the following poets :

EFI'TF‘WF:, ’TIT%T:, E'U@'?f, "43[‘{%:, g9 |

STHITARGAEAT, TG AT forad : 1x5=5
frAfetiEd TaATe o o & A foRau

Write the names of the authors of the following works :

1. TEEEE: 2. SHUINSd: 3. Sideed 4. Rredeess 5. gead= |

Tug: g (Section D) 10 + 10 = 20 =T
TR SAGHRT:
TR Td AASTHI

Metres and Figures of Speech

TR 3T | 1x2=2
T o IR AT |

Answer the questions.

() gIEr o @l el A o |

(i) O e ferEd |

SRR qud . 1x4=4
ffciad aRTsTeT w1 qo7 HIFT

Complete the following definitions :

(i) wM__ TWEEE T

() WwEs=n  frahof |

(i) dremEiRd SR |

(v) == AT

THE T3T ITET fo1@d | 2x1=2
T 5 Hl IR0 feA@T |

Give the example of the one metre.

3T, H=ThT |

11 [P.T.O.



12.

13.
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()

C))

()

C))

AT e =Rl foh =< 2

o oo

ffetiad Tolier o =)0T § i 91 B2 & ?

What is the Metre in the following line ?

el AT Je
3rar/OR
HAGN: o Foh T BT GH, 1

FATIH IEATHR HETET 0T ol |
fordl U TETATHR 1 TG0 &1l fefa |

Define and give example of any one of the following :

T, T: |

FHATIH STAATHR HETELT AeTv forae |
Tordl Uk TSR 1 TT&T0T Uel 38R0 fotfiad

Define and give example of any one of the following :

TIFHY, ST |

37T9: TETY Uiy ST HISerd :

fefetfad dfsar § STeTgsR i e Sife

What are the figures of speech in the following lines ?

(i) TErd: g 39 9eve: |

(i) T T A qHE G o |
STNATGTIRATIES TR

frfeTiad g1 aRTsTeT i gut it ;
Complete the following definitions :
() S L Juasty.. ... Tq |
(i) et weTLLLLL ... |

12

2x1=2

1x3=3

1x2=2

1x2=2



